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Count forward in ZI&V
a. 22,124, 126,
b. 48, 50, :
c. 500, 502,

Count. forward in 5's.
a. 50,55, 60,
b. 400, LO5,

Count. forward in |00.
a. 200, 300, 400,
b. 10, 210, 30,
c. 50,100, 150,

Count, forward in 500.
a. 500, 1000, 1500,
b. 1000, 1500, 2000,

ComP|ete the Potter‘n:

. 400, 800, 1200,
. 5500, 5400, 5300,
. 600, 900, 1200,
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. Count backward in 2|S.V
a. 122, 120, |18,
b. 48, L6,
c. 500, 498,

2.Count. backward in 5's.
a. 50, 45, 40O,
b. £00, 395,

3.Count backward in 100.
d. 900, 800, 600,
e. 8910, 88I0, 8710,
f. 120, 620, 520,

A. Count. backward in 500.
c. 2500, 2000, 1500,
d. 9000, 8500,

Comlo|ete the Pqtter‘n:

.- 9000, 8000, 7000,
2. 17100, 7600, 7500,
3. 1550, 1500, 1450,
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Br‘eqking CIOWh methocl - Break down both numbers

Calcdate 5362 + 2 [86
=5000+300+60+2+2000+/400+80+6

=5000+2000+300+400+60+80+2+6
=7000+700 + 14,0 + 8

\: 7848 )

Cadleulate the sums bﬂ using the br‘eoking down method.

[ 5362 + 2Lb \ [ [,365 + 1552 \

\_
[2I‘M+3642

AN
Y4
VAN

| 671+ 327
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Caledate 8 3/2 - 2 13]

: (Br‘eqking CIOWh methocl - Break down both numbers

™ €

y Z

AY:

VAN

= (8 000-2000) +(300-100)+ (40 -30)+ (2-1)
- = 6000 +200+ 10 +|
- = 62l
K . .
[ o Caleulate the sums bl\.j using the br‘eqklng down method.
(Te2-4- N [ ssr-3-
K
K
[49‘77—895: \ [875‘7—4733:
K
K
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= (50+3) x5
= (50 x 5) + (3 x 5)
= 250 + 15

\_ = 265

EXO

X

5
| 5

2 5 0 (50x5)
2 6 5

mP|e 2 \

5 3

(3x5)

J

Caleulate the sums bﬂ using the methods used in examP|e | and 2

[ 52x9=

~N
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EXGmPle | EXGmPle 2
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4 Exarmple | 20xdl= Exarmple 2 )
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=60+14 +1

( Exqu|e | ExcmP|e 2 \
375 +5 42 +2
=(300+70 +5)+ 5 = (40+2)+2
=(300 +5) +(70 +5) +(5+5) = (40+2)+(2+2)
= 20+1

J

Caleulate the sums bﬂ using the methods used in examP|e | and 2

-

bL+2=

o= )

Y4

Li8 =4 =

AN

369 +3 =
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VOLUME

5

An ordange This cup holds This Jug holds

Juice carton 250 ol 500 ro
\ holds | liter ' ' /

a. A cup holds [ ] the orange J'uice carton, more thon, less

thon, the same as.

b. The orange J'uic:e carton ho|c|s[ ] the cup, more thon, less

than, the same as.

c. The Jug holds [ ] the orange J'uic:e carton, more thqn,

less thqn, the same as.

d. The JUS holds [ ] the cup, more thqn, less thon, the same
as.
e. The orange Juice[ ] carton holds the Jug, more than,

less thqn, the same as




. How much water can the meqsur‘ing a Jug hold?

2. Which JUS holds the most.?

3. Which Jus holds the least.?
I A How much more does J'ug C have than J'ug B?

I 5. How much more does JUS D have than JUS A?




Convert, between millliter and liter
ExcmP|e:
3750 ml = 3 liters and 750milllitres
A% iters = 4 500milllit.res

. 8320 ml =
2. 5% liters =
3. 1000ml =
h. % liter =




